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CHEMISTRY

PAPER 1
Marking scheme
1.
nacl – by mobile ions(

Graphite – by mobile electrons (/delocalized electrons 

2.
.(i)
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  (1mk)

     (ii) The hydroxide of R has a molecular(½ structure with van-derwaals(½ forces in         

           between the molecules.





         


  (1mk)

3.
(a) (i) Barium sulphite (1mk


(ii) Gas Y – Sulphur (IV) oxide(1mk

4.
2nd ionization energy is greater than first ionization energy of magnesium.( ½ second electron is attracted more because protons are more than electrons(1
5.
. a) Direction of flow of cold water into and out of the Liebig condenser is wrong  (1

        b) Distillation  (1

       c)  Ethanol and water are miscible  ( ½

             Their boiling points are different  ( ½

6.
a) Isotopes are atoms of the same element with the same atomic number but different mass numbers   (1

     b)  [image: image3.png]100



  (1

           = 20.2 (1

7.
KOH(aq) + HNO3(aq)

KNO3(aq) + H2O(l)


R.F.M of KOH = 56(½

Moles of HNO3  = 50 x 2 = 0.1(½



        1000

 Mole ratio is 1:1(½


Hence moles of KOH in 50cm3 = 0.1



In 100cm3 is 0.2 moles(½

Mass of X = 0.2 x 56 = 11.2g(½






8.
. i) Blue  (1

    
 ii) SO2(g)   +   H2O(l)                 H2SO3(aq) (1 
 
 iii)Bleaching agent  (1

9.
(a) Outer part of non-luminous flame is hotter as there is complete combustion of gas ( ½ 


- Inner part contains unburnt gases since there is no supply of enough air, paper is unburnt ( ½ 


(b) Produces soot ( ½ not hot( ½ due to incomplete combustion of gas
1mk

10.
(i) chlorine reacts vigorously(½ with hot iron forming dark-brown crystals of iron (III)   chloride.(½











   (1mk)

(ii) (a) To collect the iron (III) chloride(½ which is a sublimate(½


  (1mk)

       b) It reacts(½ with excess chlorine gas to avoid emission of poisonous(½ chlorine gas into the air



              






 (1mk)

11.
a) – Zn2+  ( ½

         -  Cl - ( ½

    b)  Pb2+  (aq)  + 2CL-(aq)               PbCl2(s) (
    c)    Zn ( NH4)    2+(      

12.
.   i)  Liquid m = water

ii) CO2 ( ½ formed by burning candle, 

               slightly soluble ( ½ forming an acidic ( ½

               solution                  

iii) H2O(l)   + Na2O2(s)              2 NaoH(aq) +  O2(g)
13.
(i) Alkali metals lose one electron hence require less energy than alkaline earth meals which lose 2 electrons( 1mk

(ii) Alkali metals down group increase in atomic radius hence decrease in strength(1 of metallic bond


Halogens increase in size down the (1 group increase strength of van der waals forces


(iii) Exist as mono atomic molecules with weak van der waals forces

14.
Heat the mixture( iodine sublimes and is collected in the cooler part of the vessel leaving lead(II) sulphate behind(1

15.
(i) C( ½ 


(ii) A – weak acid( ½ ionizes partially


(iii) E( ½ 

16.
.(i)  Q(½- The melting point is below 25oc while melting point is above 25oc(½                (1mk)

     (ii)  (1).P Giant atomic structure(½

            (II).R Metallic structure(½






        

   (1mk)

     (iii) R(½. -Has low density(½ with high melting (½and boiling points.


     - Is good conductor of electricity(½


17.
Ram = RamY1 x Abudance + Ram Y2 x abundance 





100



6.939 = 6.015y + 7.016Y2(1





100



6.939 = 6.015y1 + 7.016(100-y1)(1





100



693.9 = 6.015Y1 + 701.5 – 7.016Y1



Y1 = 7.7%




Y2 = 100 – 7.7 = 92.3%(1


Method II



6.015


7.016






  6.939



0.077


0.924



7.7%


92.4%



= 7.7%


92.3%
18.
(a) Methylethanoate(1


(b)
H
H
H



H
C
C
C
C(1




H - H-  C – H- H





H

19.
(i) 
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HEAT IT





(ii) Wet cotton when heated produce steam( ½ which react with hot magnesium to form magnesium oxide and hydrogen gas ( ½ 

20.
(a) X – 2.8.6( ½ 


Y – 2.8.8.1( ½ 


(b) Ionic / electrovalent (1 because X is a non metal element while Y is a metal(1

21.
(a) Hydrogen chloride gas is acidic, therefore dissolved in water to give an acidic solution of 
hydrochloric acid which turned blue litmus paper red(.


(b) To prevent sucking back(1mk

22.
(a) – Chromium (III) ion( ½ 


- Copper (II) ions (½ 


(b) 
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(c) Check on the diagram

23.
(a) Carbon(IV) oxide(1


(b) To absorb excess /unreacted carbon(IV) oxide gas(1


(c) Carbon (II) oxide is poisonous(1

24.
a)
-1  R

b) 89 

39

25.
i)
a- Covalent bond ( ½



B – Hydrogen bond ( ½ 


ii)
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Diagram (


Correct electron distribution



Change and brackets (
26.
(a) (i) Water( ½ 


(ii) – Use anhydrous copper(II)sulphate( white if it changes to blue crystals then its water(1

· Anhydrous cobalt (II) chloride blue(1 changes to pink(1

(b) Grey solid( ½ 

(c) PbO(s) + H2(g)
Pb(s) + H2O(l) bal ½ mk
s.s ½ mk

27.
a) nitrogenous fertilizer  (1

      b) in anti-acid medicine  (1

28.
(a) Chlorine gas /Cl2

(b) (i) HCl(aq) + AgNO3(aq)

AgCl(s) + HNO3(aq)(
B.e ½ 
ss ½ 


(ii) AgCl(s) + 2NH3(aq) 
[Ag(NH3)2]+-(aq) + Cl-(aq)

AgCl(s) + 2NH3(aq)

Ag(NH3)2Cl(aq)

29.
(a) Lead (II) nitrate /Pb(NO3)2( 1mk


(b) [Pb(OH)4] 2-
30.
(i) Add distilled water to the mixture and stir( ½ 


(ii) Filtre to obtain a filtrate of sodium carbonate and insoluble lead carbonate( ½ 


(iii) Heat the filtrate to dryness to obtain dry sodium carbonate solid( 1
( ½ 





( ½ 
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